CHAPTER IV
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SOFTWARE DEVELOPMENT
4.1 ALGORITHM
1. Start the program.
2. Assume Port1 as input port and Port3 as output port.

3. Initially set the pins of Port1 and Port3 to contain ‘0’.

4. Check if any bit is available in the Port1.

5. If the bits are available in the Port1, check the bits for right or left, up or down, Clipper open or clipper close motion of arm.

6. Activate the control signal according to the required motion and   GOTO Step 8.

7. If no bit is available at the Port 1 repeat the process from Step 4.

8. Stop the execution.
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4.3 PROGRAM

o1  equ p3.0

o2  equ p3.1

o3  equ p3.2

o4  equ p3.3
    ASSIGNING PORT 3 PINS
o5  equ p3.4

o6  equ p3.5

     org  0000h

     mov sp,#040h

     clr o1

     clr o2

     clr o3                           INITIALIZING ‘0’ FOR PORT1 AND PORT3 PINS
     clr o4

     clr o5

     clr o6

     mov p3,#000h

start:

oo1:

       mov a,p1

   MOVE PORT1 TO ACCUMULATOR
       cjne  a,#01h,oo2
   COMP AND JMP IF NOT EQUAL TO ZERO oo2

       setb o1

   SET o1 TO B REGISTER
       acall sdelay
   CALLING SDELAY LOOP
       clr  o1

   CLEAR o1
       acall ldelay
   CALLING LDELAY LOOP
       acall ldelay
   CALLING LDELAY LOOP
oo2:

       mov a,p1

  MOVE PORT1 TO ACCUMULATOR
       cjne  a,#02h,oo3    COMP AND JMP IF NOT EQUAL TO ZERO oo3
       setb o2
SET o2 TO B REGISTER
       acall sdelay
CALLING SDELAY LOOP
       clr  o2
CLEAR o2
       acall ldelay
CALLING LDELAY LOOP
       acall ldelay
CALLING LDELAY LOOP
oo3:

       mov a,p1

  MOVE PORT1 TO ACCUMULATOR
       cjne  a,#04h,oo4     COMP AND JMP IF NOT EQUAL TO ZERO oo4
       setb o3                    SET o3 TO B REGISTER
       acall sdelay             CALLING SDELAY LOOP
       clr  o3                      CLEAR o3
       acall ldelay              CALLING LDELAY LOOP
       acall ldelay              CALLING LDELAY LOOP
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oo4:

       mov a,p1

   MOVE PORT1 TO ACCUMULATOR
       cjne  a,#08h,oo5     COMP AND JMP IF NOT EQUAL TO ZERO oo5
       setb o4                      SET o4 TO B REGISTER
       acall sdelay              CALLING SDELAY LOOP
       clr  o4                      CLEAR o4
       acall ldelay              CALLING LDELAY LOOP
       acall ldelay              CALLING LDELAY LOOP
oo5:

       mov a,p1

    MOVE PORT1 TO ACCUMULATOR
       cjne  a,#03h,oo6      COMP AND JMP IF NOT EQUAL TO ZERO oo6
       setb o5
 SET o5 TO B REGISTER
       acall sdelay
CALLING SDELAY LOOP
       clr  o5
CLEAR o5
       acall ldelay              CALLING LDELAY LOOP
       acall ldelay              CALLING LDELAY LOOP
oo6:

       mov a,p1

   MOVE PORT1 TO ACCUMULATOR
       cjne  a,#07h,ood      COMP AND JMP IF NOT EQUAL TO ZERO ooD
       setb o6
SET o6 TO B REGISTER
       acall sdelay
CALLING SDELAY LOOP
       clr  o6
CLEAR o6
       acall ldelay               CALLING LDELAY LOOP
       acall ldelay               CALLING LDELAY LOOP
ood:

       ajmp start

sdelay:         mov     r5,#020h  
 MOV #020H TO REGISTER R5
sdelay0:        djnz    r6,sdelay0 
DEC REG-6  AND JMP IF NOT ZERO
               djnz    r5,sdelay0                  DEC REG-6  AND JMP IF NOT ZERO
               ret                                          RETURN



ldelay:         mov     r5,#060h   
MOV #060H TO REGISTER R5
ldelay0:        djnz    r6,ldelay0 
DEC REG-6  AND JMP IF NOT ZERO

               djnz    r5,ldelay0                  DEC REG-6  AND JMP IF NOT ZERO
               ret

                        RETURN










end
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